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(Key Question)  Suppose that you hear two people arguing about energy.  One says that we are running out of energy.  The other counters that we are running out of cheap energy.  Explain which person is correct and why.


The second person may be correct; the first is not.  There will always be sources of energy available (flowing water, the wind, and the sun, if nothing else), but some aren’t cheap to use.  In recent decades oil has been one of the cheapest sources, but as growing demand begins to outstrip our ability to increase production, prices rise and it becomes less cheap.  As oil prices rise, other sources of energy (solar, wind, biodiesel) become economically viable.  They are not necessarily cheap energy sources as oil was, but they are energy sources.  Technological advances may also discover new cheap sources of energy, in which case neither of our two people will be correct.
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(Key Question)  Recall the model of non-renewable resource extraction presented in Figure 15.7.  Suppose that a technological breakthrough means that extraction costs will fall in the future (but not in the present).  What will this do to future profits and, therefore to current user cost?  Will current extraction increase or decrease?  Compare this to a situation where future extraction costs remain unchanged but current extraction costs fall.  In this situation, does current extraction increase or decrease?  Does the firm’s behavior make sense in both situations?  That is, does its response to the changes in production costs in each case maximize the firm’s stream of profits over time?



A reduction in future extraction costs will increase future profits, increasing the user cost for present extraction.  This will cause current extraction to decrease as firms wait to take advantage of the new technology.  In contrast, if only current extraction costs fall, it is more profitable to extract in the present, and current extraction will increase.  


The firm’s behavior in both situations makes economic sense.  The firm is trying to maximize the firm’s stream of profits over time; changes that make current extraction more profitable will cause greater extraction now; changes increasing the profitability of future extraction will lead firms to extract less in the present.
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(Key Question) Various cultures have come up with their own methods to limit catch size and prevent fishery collapse.  In old Hawaii, certain fishing grounds near shore could only be used by certain individuals.  And among lobstermen in Maine, strict territorial rights are handed out so that only certain people can harvest lobsters in certain waters.  Discuss specifically how these systems provide incentives for conservation.  Then think about the enforcement of these property rights.  Do you think similar systems could be successfully enforced for deep sea fishing, far off shore?

Those given rights to a certain fishery have an incentive to harvest at a sustainable rate so that they can generate a long-run stream of profits.  If the area to be fished is carefully defined and reasonably small, enforcing the property rights over a given fishery should be relatively easy.  The further the fishing moves from shore, the more difficult and costly it would be to enforce these rights.  Illegal fishers could go undetected more easily, and the added time and fuel costs to patrol further from shore would greater limit the ability to enforce.

